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1p 24 Which sentence fits the gap in paragraph 7? 
A Fortunately, a person’s cognitive potential can be improved by training 

and some finetuning. 
B Still, high intelligence is more a blessing than a curse and those who 

possess it have a head start in life. 
C The cognitive pitfalls outlined above might constitute a dangerous 

intelligence trap for super smart people. 
D This quest for genius itself can become a hopeless mission and have 

serious implications for society.  
 

1p 25 Which type of intelligence is one of those the author herself lacks, 
according to paragraph 8? 
A ‘analytic intelligence’ (paragraph 3) 
B ‘practical intelligence’ (paragraph 3) 
C ‘creative intelligence’ (paragraph 3) 
 
‘Open-mindedness, continuous self-questioning and a willingness to 
change one’s mind’ (alinea 9) 

1p 26 In welke alinea wordt het ontbreken van deze eigenschappen voor het 
eerst expliciet genoemd als een zwakte van zeer intelligente mensen? 
Noteer het nummer van deze alinea. 
 
 

Tekst 7  The white stuff 
 

1p 27 Which of the following fits the gap in paragraph 1? 
A Back off vegetarians 
B Calm down cheapskates 
C Move over cows 
D Speak up hipsters  
 
‘both for the body and the planet’ (alinea 2) 

1p 28 In welke alinea wordt voor het eerst een effect van alt-milk op het milieu 
genoemd? 
Noteer het nummer van deze alinea. 
 

1p 29 How is paragraph 5 linked to paragraph 4? 
A It analyses the reason for the alt-milk controversy outlined in 

paragraph 4. 
B It counterbalances negative aspects of alt-milk mentioned in 

paragraph 4. 
C It evaluates a specific type of alt-milk that is elaborately discussed in 

paragraph 4. 
D It explains why regular milk is better than the alt-milk described in 

paragraph 4. 
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1p 30 Which of the following fits the gap in paragraph 7? 
A As a result 
B Indeed 
C On the whole 
D Similarly 
 

1p 31 Which of the following fits the gap in paragraph 8? 
A an abundance of farms in the area 
B cows’ milk as a fallback option 
C fewer homegrown crops if possible 
D several non-dairy options to choose from 
 

1p 32 Which of the following aspects of alt-milk is not mentioned in this article? 
A dietary properties 
B marketing 
C pricing 
D production methods 
E sustainability 
 
 

Tekst 8  Tennessee 
 
‘when those acres are converted down into square feet’ (regel 5) 

1p 33 Wat gaat er gebeuren met de grond als dit aan de hand is? 
Geef antwoord in het Nederlands. 
 

2p 34 Geef van de volgende beweringen aan of deze overeenkomen met de 
inhoud van de regels 6 tot en met 27.  
Noteer ‘wel’ of ‘niet’ achter elk nummer op het antwoordblad. 
1 De bewoners van de oude wijken hebben zich fel tegen 

stadsvernieuwing verzet. 
2 Er zijn oude panden gesloopt om plaats te maken voor 

appartementencomplexen. 
3 Kleine speciaalzaken kunnen alleen overleven als ze zich vestigen 

buiten het stadscentrum. 
4 Een deel van de bomen in de stad wordt aangetast door een 

schimmel. 
 

1p 35 Welk woord uit de regels 28 tot en met 36 maakt duidelijk hoe zeer de 
schrijfster en haar familie zich buitenstaanders voelden? 
Citeer dit woord. 
 

1p 36 What is the narrator’s overall opinion on how Nashville has changed over 
the years? 
A The advantages of municipal growth have been mostly financial. 
B The positive developments ultimately outweigh the negative ones. 
C The small-town mentality of its original inhabitants still dominates. 
D The transformation of the area has taken longer than necessary. 


